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QUESTION 1

Which of the following is not a function of WAF?
A. Defense against brute force attacks on ECSs
B. Website anti-crawler

C. Data leakage prevention

D. Web tamper protection

Correct Answer: B

Reference: https://www.huaweicloud.com/intl/en-us/product/waf.html

QUESTION 2

To monitor the OS of an ECS, you must manually install the Agent on the ECS.
A. True

B. False

Correct Answer: B

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1100105755/5746263a/applying-for-an-ecs

QUESTION 3

Which of the following may cause the file system mounting failure?
A. The file system capacity is too large

B. File system has been deleted

C. Used to access the file system DNS error

D. The shared path in the mount command is entered incorrectly

Correct Answer: BCD

QUESTION 4
What operation cannot be performed on data disk mirroring?
A. Apply for a data disk

B. Copy the mirror
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C. Apply for the server
D. Export the mirror

Correct Answer: C

QUESTION 5

When two elastic cloud servers in the same VPC cannot communicate with each other or packet loss occurs, which of
the following factors need to be checked.

A. Check the network ACL

B. Check the unreachable port

C. Check the internal network card information of the elastic cloud server
D. Check the security group rules

Correct Answer. ABCD
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